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Alcohol Testing Program — g
Datein_// V'3 / |7/ DateOut Cf] 19 ) i) @ship Qp/u QH/0 QAcmi QEE
i
Intake Performed By 158 | | Quality Checks  Performed By /‘?’/ Flow Calibration Perform?5$
QO Registration | & labTemp°C__2(.9 & Flow Calibration N//‘aj, “ﬁ;__,l
& Annual @ Breath Tube Screen O Flow Calfbﬁ{;lon Co ‘L
O Return from CMI & Replace External O-Rings Flow Columid '>{f%
O Return from Enforcement 8 Instrument Set Up Verified Q st/min- 1; o <f§/«,
Electronics @ R-Value __(§9] O 15L/min - 53m?rﬁ¢, g
O oOther @  Flow Verification (L/s) a 30L/min- 103mrf?¢0
Visual Inspection: Flow Column #__ /7 7/ O R-value kG,x
X Ccase (A Handle 32mm _i4  (.139-.169) | @ Post Calibration Verification ?’ﬂs)
£4¢_Dry Gas Holder Pl Feet 36mm_lLZ__ (.156-.190) Flow Column # 7
Dl Keyboard/Plug _£''< Back/Plugs 53mm _9 A1 (.228-.278) 32mm {-139 -.268)
2l Screws tight ZL- Breath Hose 103mm _H9% (447 - 547) 36mm (.156 - .190)
& Barometric Pressure Check 53mm (.228 - .278)
Other Equipment: Gauge ID #_2512( 103mm (.447 - .547)
O Power cord & Stability Checks Maintenance Performed By
O Printer Cable (e = Simulator | Serial # Lot #/Exp O Battery Replacement
L Other S Dy 0.05 N o8 AN03Y O Dry Gas Regulator Replacement
v (a0 3\ § IE O Breath Tube Replacement
0.08 - 201 116 O Other
Notes: G sl g Quality Checks Cont. Performed By (%
0.20 (62 201743 B Simulator Temperatures °C :
) )az1 9 External Digital Therm. ID#: 3e@seo< /242 565
0.08 DGS N/A EREITS B 34°C+-.2 Serial #: GAo 5 /505762
i 34°C+-2 Serial#: 65149 g 3, )
/lj 349C +-.2 Serial #: Glle\ [Gavel/ 50733
Calibration Adjustment Performed By _@’ Department Inspection Performed By
O Calibration Adjustment N/A B Barometric Pressure 1al2 Gauge
& Calibration Adjustment Complete ID# IS4 jg 1 Instrument
Barometric Pressure Gauge _1¢(3 __ ID#_ 20932
Simulator Serial Number | Lot Number | Expiration Mouth Alcohol Solution Lot # 2016 A
0.000 GO\ N/A N/A Acetone Stock Solution Lot # 2= 7-#
0.040 S0 01% (. 320 /6 /02 ( /’g Simulator : §eri§l N}:mbef
Efi = 0.00 A4 IDins9
0.100 SDI0IL | oo Jff‘f/(? | *Bjﬁ T, ;
: nterferent Lot spse2f
0.200 SDiel (7090 | 2/i/14 0.05 GlETTT8  sp39
0.300 DR (215 160 12l Jis 0.08 A sh0/3
0.080 DGS | N/A HSISORORR | els {17 0.20 AT 503933
G Post Calibration Adjustment Stability Checks -
Simulator Serial Number | Lot Number | Expiration Attachments
0.05 SO3 U2 K01 707D 7/;(}{? & Form 41 & calibration Adjustment
0.08 S/ KA TOTE —7/; s/i¢ 8 Pre-Stability Tests & Post-Stability Tests
0.20 Sp 3723 2707 ¢ /341y = Flow Calibration & Otherfumde
0.08 DGS N/A M‘LHL’U'{ 7/, L(/)g
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& Instrument Complies with Chapter 11D-8, FAC
O iInstrument Does Not Comply with Chapter 11D-8, FAC

&~ Return to/Place into Evidentiary Use
O Remain Out of Evidentiary Use
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COLUMBIA COUNTY SO
Intoxilyzer - Alcohol Analyzer
Model 8000 SN 80-000775

09/19/2017 08:29:04
Auto Calibration
LEEE L 3um FEHES
Solution = 0.000 g/210L or 0.0000 mg/1,
Sample % Abs (% Abs Ref)
Sample #1 0.1160 (-0.0210)
Sample #2 0.0810 (0.0300)
Sample #3 0.1070 (0.0520)
Sample #4 0.1060 (0.0370)
Avg % Abs 0.02980 (0.0397)
STD DEV 0.0147 (0.0112)
REL STD DEV 15042 [28.336)
Solution = 0.040 g/210L or 0.1905 mg/1,
Sample % Abs (% Abs Ref)
Sample #1 0.8370 (-0.0210)
Sample #2 0.8430 (-0.0030)
Sample #3 0.7880 (0.0220)
Sample #4 0.8210 (0.0210)
Avg % Abs 0.8173 (0.0133)
STD DEV 0.0277 (0.0142)
REL STD DEV 3.387 (106.154)

Solution = 0.100 g/210L or 0.4762 mg/l,
Sample % Abs (% Abs Ref)
Sample #1 1.9010 (-0.0030)
Sample #2 1.9090 (-0.0170)
Sample #3 1.9210 (0.0250)
Sample #4 1.9120 (0.0360)

Avg % Abs 1.9140 (0.0147)

STD DEV 0.0062 (0.0280)

REL STD DEV 0.326 (190.706)
Solution = 0.200 g/210L or 0.9524 mg/1,
Sample % Abs (% Abs Ref)
Sample #1 3.6090 (-0.0150)
Sample #2 3.6480 (0.00%0)
Sample #3 3.6450 (-0.0040)
Sample #4 3.6580 (0.0150)

Avg % Abs 3.6503 (0.0067)

STD DEV 0.0068 (0.0097)

REL STD DEV 0.186 (145.688)
Solution = 0.300 g/210L or 1.4286 mg/l,
Sample % Abs (% Abs Ref)
Sample #1 5.3000 (-0.0140)
Sample #2 5.3250 (-0.0020)
Sample #3 5.3140 (0.0200)
Sample #4 5.2990 {0+0510)

Avg % Abs 5 3127 (0.0230)

STD DEV 0.0131 (0.0266)

REL STD DEV 0.246 (115.770)

= 4 5

Samples

% Abs
.0990
.0850
.1080
.0840
.0923
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pg 1 of 2

Discarded = 1

(% Abs Ref)
(-0.0290)
(-0.0100)
(0.0050)
(0.0030)
(-0.0007)
(0.0081)
(1221.679)

Discarded = 1
)

(% Abs Ref
-0.0200)
0.0110)

(

(

(
(-0.0020)
(
(0.0097)
(

Discarded = 1

(% Abs Ref)
(-0.0040)
(0.0080)
(0.0180)
(0.0280)
(0.0180)
(0.0100)
(55.556)

Discarded = 1

(%5 Abs Ref)
(0.0150)

N

Discarded = 1

($ Abs Ref)
(0.0060)
(0.0020)

(-0.0080)

(0.0140)

(0.0027)

(0.0110)

(

413.068) C%ywq



COLUMBIA CQOUNTY SO
Intoxilyzer - Alcohol Analyzer

Model 8000 SN 80-000775
08:29:04

09/19/2017

Auto Calibration

R, 3um S>>>>
Zero Order Coef -231.87
First Order Coef 2547 .94

Second Order Coef 34.63

Act Fit Residual
(g/210L) (g/210L) (g/210L)
0.000 0.000 -0.0004
0.040 0.039% 0.0007
0.100 0.100 -0.0002
0.200 0.200 =0 0001
0.300 0.300 0.0001

R 3um s e

Solubion = 0.080 g/210L or 0.3810 mg/l,

Sample
Sample #1 3091.00
Sample #2 3068.00
Sample #3 3090.00
Sample #4 3085.00
Avg 3081.0000
STD DEV 13 . 5326
REL STD DEV 0.374
H20 adjust (mg/l*10k) 728
Barometric Pressure = 1011

khkkhkkhkkdxxdx Ak XCATLTBRATION SUCCESSFUL* % % % % %k % % % % %k k%%

pg 2 of 2
<<c<<< 9um >>>>>
-115.13
1321.53
13.98
Act Fit Residual
(g/210L) (g/210L) (g/210L)
0.000 0.000 -0.0001
0.040 0.040 0.0003
0.100 0.100 -0.0002
0.200 0.200 0.0001
0.300 0.300 0.0000
G, Sum >>>>>
Samples = 4, Discarded = 1
3429.00
2388.00
3398.00
339100
33892 ,3333
5.1316
0.151 ~
417 @ 7]
Q \(‘\\\’]
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